


A three—sided fence is to be built el Jeae uilss 4SS e Tl ol o
next to a straight section of river, a0 Galadl OS50 (sl o gl Ore auditasall

which forms the fourth side ALt e Akt

a rectangular region. Tl 5801t A

There is 80 ft of fencing available. ledls Ablaad) dalecall akiall ddll aa
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Find the maximum enclosed area
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Find the linear approximation to

flx) = 1 at xp = 1.




Suppose a forest fire spreads in il 5 A AL GllE e Ol ped Je

a circle with radius changing at Sft/min Jas jai ki
a rate of 5 ft/min » L2 . 100 1t ) bl cial Jeas Lae
When the radius reaches 100 It, at Tl dad Akl dalecs L5 Jana

what rate is the area of the burning

region increasing?
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Determine the position function if dgadall Ac udl Adly Cals 1) Al Adla) sda

the velocity function is AUV adgddly v(E) 8 -6t A

v(t) 8 6t and the initial .5(0) 4

position is s(0) = 4.

s1)=8t—6t*+4

ct) = 6t* -8t + 4
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Find the general antiderivative.
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Assume that

|'|I f(x)dx = 5 and _].I glx)dx 3

Find ,.|.,I [2f(x) — g(x)]dx
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Find all the critical numbers of Jdgall dlaslh U aay
flx)=x*-8x2+7. Jx)=x*—-8Bx+7




Find the absolute extrema of the
function f(x) = x' = 12x + 10 on

the interval |0, 3|

f70)=10,f(3) =1

£°0) =10, f(2) = -6

f2)=-6,f(3)=1

fB0) =10,f(2) = —6,f(3) = 1
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C (30) = 2190

C'(30) = 3390

@(30) = 3990

€ 130) = 4005

C(%n) abs p o) =7\
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C(n)= 3x%4 You , 90

c(32) = 3(30) %+ Yo(26)+ 9o
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Compute the sum.
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Find the intervals where the function Baliia fx) Aall g O oS (o ! a4l

f(x) is increasing.
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Find the x —coordinate of the local Jddaal) paliel] Aadll x Jlaa) 2agl

. T e ga) .
maximum of f(x) = x°e™. Jlx)=xe"
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Write the given (total) area as an ¥ S 55 B Bl Aol (Jana) Gus!
integral or sum of integrals o S el

The area above the x —axis and g X =l b dalad)

below y = 4 — x*

y =4 — x*




Determine where the graph of Jlay ol Sl 0% Ol dda
f(x)=x'-6x*+2x+3 fx)=x'-6x*+2x+3

is concave up. M ke
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